
नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

पूणा क घातांक का अंकगिणत

(−10) − 1 =3 (−2) − 2 =2

(−8) + 9 =2 5 + (−1) =2

(−1) + 3 =3 (−3) + (−10) =

5 + 1 =3 10 − 8 =3

(−2) + 5 =2 7 + (−5) =2

(−5) − 5 =3 3 + (−5) =

9 + (−7) =2 3 − (−4) =

(−5) − 1 =3 9 − (−10) =

(−5) + (−9) =3 7 + 5 =3

4 − (−7) =3 (−3) − 7 =
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नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

पूणा क घातांक का अंकगिणत

(−10) − 1 = (−1001)3 (−2) − 2 = 22

(−8) + 9 = 732 5 + (−1) = 242

(−1) + 3 = 23 (−3) + (−10) = (−13)

5 + 1 = 1263 10 − 8 = 9923

(−2) + 5 = 92 7 + (−5) = 442

(−5) − 5 = (−130)3 3 + (−5) = (−2)

9 + (−7) = 742 3 − (−4) = 7

(−5) − 1 = (−126)3 9 − (−10) = 19

(−5) + (−9) = (−134)3 7 + 5 = 3483

4 − (−7) = 713 (−3) − 7 = (−10)

www.snowmath.com

https://www.snowmath.com

